Make a Machine )



2 X088 X}REAEOL X IAYIE Ol
OtFOl 2R B USII'7IES
FoistAl D2 =28 E2|7|

215101 ME A SLICE

29| LHB2 H&SHAl= 230 w2t
H YrolHrEfLct,

o2 2| Crdet M'2S SoHM

FLICH 2ts¢eh E Al2E LHof|

Z2IotA| Z HIE
EEEE # UAEESPUSLICH

2= https://codingpeople.co.kr

g
&Y o=

Cl I = e
LR MY 20 W 1 QK M > D AM > 20}

" ohFoliel Thrt Eg Wiol R0

3 YouTube|  =sme m%

s OoH=
@ @ @ 32|0|0|E|E HHX KEXHEA|-H|YE] 2.0
CHSHAIZ Btol M A



CONTENTS

I Step 1. 145 % MERE X7}

]

o
4
o

| Step 2. MDF 2 | A B2 E A

0
i
.
oo

| Step 3. |2 1

| Step4. 34

| Step 5. HAE



Al of2lle] FefAretS =X[5Ho]

=

ZIEAEH

£|AlZ HEELIC




.

N S A 01O
0 2 T MO

S

zl_]

1 Q&1

C

N PAS
AEotaH

05 [ Step1. T4E U MEZE X7|3}



o
o

02| MDF R

S

%]

1 Qs

[

N Pa
AEotaH

Step 1. FHE U MERE X7|3l | 06



03 | OtF0lk 2X E US7| 7|EQ| ¢ E2 Oleliet ZSLIC.

ECUS R AR IS

vainsoi
| ‘QW " s

07 | Stepl. 788 U MEZE X7|3t



04

it Xtz et ) M| 2 &= ‘RobotArm_servo_reset.ino’ IS 2510

MERES OtF0|e R (MM 2E) HZESHY 7|3} gLt

121 |o]
ME2E D10

21 31 Hlof

MH2E D9
2= A|of ‘i 2= A|of
HE2E D6 ME3E D5

Ardumo Sensor Shield V5.0

RESET TXRX -

5
com| - - - -]

SCLSDA- +

ADAIAZA3A4AS lic[+ = = « ]

|

of

Bluetooth x
i

POWER  ANALOG IN @
5V GNDVIN AOA1A2A3A4AS

D #[+ = = - = -] uRro1 +[* * = -]
OFS0l: Sk HE
MM 21E V5.0

X MDF 2% A3t A 98 g 2713} 5t= 01Q?
Zb AR B Eokct AT 4 Qe Zhz o] HE Aty IsHAY.
o) 2}, © #1H MEoE — 2t WHel 110 ~ 1M0& (£ X7 160%)

olwl 271 ZHvk 50zt ARstais e THE S| AT 4 Qe

Step 1. 1Y4E L MEZE X7|3} | 06



— 47N

E

Hu
o
m

X
m
=

— Ui

E

M3

1 2HOA] M3x30

160

02| MDF 2

|

Z8 U MERE 2

=
O
4

Step 2. MDF &2

09



03

04

ZFEBEQUEE
?_1 2 2 A MDF 2Y &
£ Pkl 20l Frleh

Hr X

& MEDE, 8mm £E 29§ EH[gLCt.

MDF 23 2, 3
SGI0 MBI E (2 & 3)H)

M3 x8 BE — 270

Step 2. MDF 2% X2 W MEZE AE | 10



X %E% Lit' Yol 20iZ 3L
3= AL mhaE Qa3t

11 | Step 2. MDF 2 =3 8! MERE| A%



MEDEQt Z

o —= >
¢ B22 1B ol 203 32

Step 2. MDF 2% %! 8! MEZE| HE | 12



09| MDF 23 1tHoj|

od
A

|

F2 Y HEDE 2

=
O
4

Step 2. MDF 2

13



7o

o
pi.
0]
i
H
T
<

oju

12| MDF 23 4HH0j| MERE =

#3t | 14

S MEDEH

2l gl
=]

Step 2. MDF 28 =



13| MDF 2% 5, 6tH1t 2t=£8 MEHE, 8Smm EE 271E FH|giL|LC}.

MDF 29 5,
SGI0 MR E] (2HZ)

M3 x8 BE — 27

15

Step 2. MDF 2% =2 Y MEE Hgt



15| MEREQI AetEl MDF B3 5, 6HHS 8mm 2ER 1176l FM|Q.

MDF 2% 1, 8
SGI0 MERE (L)

M3 x8 BE — 270

Step 2. MDF 2% =& 3! MEZE| AE | 16



17| MDF 2% 7, stHa} M|H I E{E of2je} Zto| gt ehL|Ct,

18 | MEE{e} 213tEl MDF B 7, 82 8mm EE2 1M F4|L.

17 | Step 2. MDF 2% = U MERE Het



|2 MERE 2

20| MDF =¥ ool MEEE] =2 Aot n = 2o 1Pl %3 17 mA S ZEELict.

Step 2. MDF 2 =2 3 MEZE 2% | 18



MEGE 28

a
Yy

100
H
LL
()
=

Step 2

oj

BHoj| MERE =

110

b
O
o

22| MDF &

|

Z8 U MERE 2

=
O
4

19 [ Step 2. MDF &



23

24

MDF 2% 10 ~ 1313} 6mm, 12mm 2Eg} L{EE ZH|EtL|C},

MDF 23 10 ~ 13¢¥
M3 x6BE — 194
M3 x 12 BE — 271

M3 HUE — 274

MDF 238 100 12mm SEE 91 L{EE oj2fje} Zto| &t shL|C},

Step 2. MDF 2% =2l 9/ MEDE|{ A% | 20



C2fo|H = =0 FLIC}.

= Of2fjet 0| Zeldotu =

25| MDF 2 1081} 12H

26 | MDF ¥ 1181} 13tH2 ofzl{<t Zto| 3t

¥ 2% nHah3wg "’HUPE
tA3) 201= o] oLzt 957
M 3 o) L2oixor g

21 | Step2.MDF 2% X2 U MEDE At



MESE] g

x

o
nl

==
& x

Step 2. MDF &

H 12mm

15

14

| MDF 2 14

5]

=3
n
=
_
1]
T
n
X
m
=

Ui

E —

M3 4

L|C}.

3

joll

joll
Rl

3

E]

of

F

nll

| 13HE ofzlie}

=]
El

160

4

E

28| MDF &

Step 2. MDF 2% =2 3 MEZE 2%t | 22



29| MDF 2% 13to0j of2iet 2t0] MDF 2% 14, 1582 At §LICL.

4

30| MDF 2% 5Hojl SEE ‘23, of2fie 20| LIES B £E91X| Z3 #LCh (22)

23 | Step2. MDF 2% =& 3 MEDE HEt



31

32

0 58| EE, HE

=
=

ol2§et 2to] MDF 2 14, 15tHO 2 'H0o{A| X0{ZL|C}.

97, ofefie} 20| EE T SENX| B B (232)

Step 2. MDF 2% =& 3! MEDE A% | 24



34| MDF 2% 1089 MERE =2 of2liet 20| 2% ME BE{0] Ll SLICt.

25 | Step 2. MDF 2% =&l 3l MERE 2t



Step 2. MDF 23 = MEDE| A%t

MDF 238 9. 16, 1781} 6mm EEE H|ghL|C},

MDF 29 9, 16, 1THH

M3 x 6 BE — 270

ol

21910 S8t

o] ofrlat 957

ojc

v

Step 2. MDF 2 =2 3 MEZE 2%t | 26




MDF 29 18 ~ 221
M3 x6 EBE — 17

M3 x12 BE — 174

38| MDF 2% 183} 218 Ao[of] B3 2242 £1 12mm BEE D $Hct.

¥ MDF 29 2150 A%t 911 ol ||

% ZF nyo) Z2lQJol sH5eteE BEE
2013,

73] 2ol Zlo] opLlat 957 20l

27 | Step2. MDF 2% &l 3l METE 2t



40

X 2t 230 2200 Jisotz B BEL
k28] 20l Zlol olrlal 957 20iE.

MDF 23 20412 ChS HXjollA| 2182t T SHLICE. (%] &Q1)

Step 2. MDF 2% =2l 9/ MEDE|{ A% | 28



41| UM At MDF BEHET 6mm SE 271, 12mm 2E 14 FH|gL|LC},

MDF 29 18 ~ 221
M3 x6 BE — 270

M3 x12 BE — 174

rlot

42| MDF 2 17HH 3 of2liet 20| A ASI, MERE 223 25 MEDEo| ZghgLct.

% 2t m¥o) 2200l sisstE 2 BEE
23] 2ol Zlo] ohLlar 957 2AiE

29 | Step2. MDF 2% = 3 MEDE 2%



43

X 2+ @33o) &2lo) st
k3] 20l o] ohLlat 957

44

2H| Bgo

=2
=
2

Step 2. MDF 2% =2l 9/ MEDE|{ A% | 30



45

46

31

MDF 28 23 ~ 2681} 12|I MERE|, 8mm £E 4= ZH|H|C}.

MDF 23 23 ~ 26H
SGI0 ABZE (ZalH)

M3 x8 BE — U

MDF 23 240 25, 26 ¥

o

ot2fel 20| Zgt gLt

Step 2. MDF 2% =2 Y MEE Hgt



47

MDF 28 23H0j| MERES

2t ot2fet Zo| Zet gL},

Step 2. MDF 2% =%! 3! MEE| A%

32



:I.l.
2

MELE]

a
Yy

K

100
H
LL
()
=

Step 2

o}

27, 28H1 MEIE] Z,

49| MDF 2¥

Fl
(00]
nJ
S
po oM
o
L
2
<,

E — 14

2
=2

M3 x 6

B ENE bl

=z

b
L

50| MDF &

g

33 | Step2.MDF &



Step 2. MDF 2 =&l 9! A|RHDE| st

51| MDF 2% 271} 2% 28HE 6mm S EE ¢4 L LY,

X 2 2ol 2ol JH5otEE BEE
2t38] 20l= o] ohlat 957/ 2AE,

52| g2 23to| 2 E I MDF 2Y 29, 3084, 6mm EEES FH|ELICH

Step 2. MDF 2% =7 3 MERE|{ B8t | 34



53| z2jm Zx|ofl MDF 2 29, 30t of2fiet 20| SE= Zgt giL|Ct.

AR FROSEE
X 7t n¥o) 82lo) otz E B
2t3] 20l Zo] ohlal 957/ 2o

S

2
=.

54| MDF 2% 30tH3} 283 Zglth 5 2fet 20| =& MEZE{0| Z0t FL|C}.

X 2t 2ol Yol THsdt
k23] 201 Zlo] otrLiat 957

35 | Step2. MDF 2% =3 3 MEDE 2%



55

X 21} 2| 2%, MDF 2% 314, 8mm 2ES FH|EL|CL.

2A 2y
Jalm 29

MDF 239 31 ™

M3 x 8 BE — I

B 168 (EM)2 2 314, 2 258(a2|H)S EE2 ZE gLICt

Step 2. MDF 2% =% 3! MEDE| A% | 36



57| 2¥ 23, 24 Afo|oj| 2 2589 ZE JHO| SEE 17 gLict.

37 | Step2. MDF 2% =& o MERE 2



59| 2M|(22|H) 2o} ote Uy BH, MERE Y 2 ES FHIEL|CL

1

B (2ed) 29
S 0 Yy

ABRE 1 BE

60| 2XI(22|m) 2&e| zt, 2 2HE =S MEZE0| HAStD EE=Z nFelL|C}.

Step 2. MDF 2% =2 9! MEHDE|{ 2% | 38



61| B2 2N 2H

62| ofF EIa} O[O0l 25 EEE NH(3

Srignacs &

o 11l

39 | Step2. MDF 28 x2| 9l METE| A3



— 278

5 25

ol

X

M3 x6 BE — 871

40

0

Step 2. MDF 28 =& Sl MERH



41

01

02| OIFO|l 2L HEOof M

Step3. 2|2 7Y

=}
2!

ANALOG IN

- _

=
=
[=]
O
=
i
=
il

POWER  ANALOG IN @
5V GNDVIN AOATA2A3A4A5

=
a o
>
o= m

SD 4[* * » = = =] URFOI + = = = *]

OO0l Qb HE
MM £E V5.0



03

HHE z, 2 2WS MO MEZE S MM =Y 29| C|X| T 9tHoj| 20} FA4| 8.

< Alof

FRPUM (A8 H)
e

REFGND1312 111008 7 6 54
rduino Sensor Shield
RESET @ e

v com - - - -]

S SCLSDA - +
AODATAZA3A4AS |IC

SEL |:| PWR E
w
=

o
G
'
S

Al

A

Bluetooth

@ POWER  ANALOG IN L]
m 5V GNDVIN AOA1AZA3A4AS

SD +[= * * == <] URFOI# - = - -]

OIS0l 2% HE
MM EE V5.0

Step 3. 3|2E 14 | 42



04| B8 3= MEDE|E MA| £H5} 21 0| CX|E 6EHO)| 220} =M Q..

-1 0 =2—

212 3| Hof
MERE| D9
2} H[0]
MERE| D6

(®)

L ]
L ]
[ ]
.
L]
[ ]
.
AREFGND1312 11109 8 ?“6_5“ ‘3‘5‘1"0 .
Ardumo Sensor Shield V5.0
W2 (+ HY) RESET TR - 4
V COM
S SCLSDA- +
ADA1AZA3A4AS IIC
-H )

Bluetooth

=
w
v
w
o

mga (Mss) W
2L s

o POWER  ANALOG IN ®
m 5V GNDVIN AQA1AZA3ZA4AS
L1 i L L L)

D[+ ==+ ] urFo1+[- - - -]

OISOl D4 HE
MM 412 V5.0

43 | Step3. 32T 3



05| RS 5 MERHS MM 2 2o C|X|E 580l 20t FA8.

212 3|1 Hlo]
MERE| D9

212 7[of
MESE| D6

(®)

ZgaM (AEM)
HE 5 o1

= A|o]
ME2E] D5

’.......

AREFGND1312 1170 0 8 .
Arduino Sensor Shield V5.0
RESET @G e
v coM

S SCLSDA- +
AOATAZAZAZAS IiC

skl [ PWR

Bluetooth

POWER  ANALOG IN ®
5V GNDVIN AOA1A2A3A4A5

Li AL LL)

m
=
™

sD #[* * = - - «] URFo1+[= - - -]

OISOl R4 BE
MM €2 V5.0

Step 3. 2|2 1Y

44



45

i

of
mjo

06| 2

22|HE NoE MEREE MM 28 2 E=o| C|X|E 108H0]| 20} FHIL.

0

a2|m 2|0 .
MEZE{ D10 E

ZguM (LB
HE 5 o1

2t 2] #|of
ME2E D9
2+ Alof

2 #of
MERE D6

MERE| D5

‘i

v “S\ \.

h
)
o
Bluetooth L
EEEm

OWER  ANALOG IN @

o™
>
™

P
5V GNDVIN AOA1A2A3A4AS
|

sD + URFO1 +[= * = -]

OlFO|e R HE
MM €2 V5.0

Step3. 32 1



07

AEMO| X2 A0, Y2 A1 Tof| Z20lFEM|R. (+5V -V, GND - G)

2|1 #]of

MERE{ D10

212 3[0]
MEZE| D6

2t 2|3 o]

i M¥2E| D9

RO|AEN
XZ-A0
Y& - Al

S S
AREFGND 1312 111098 7654 3210
A:duizz “ensor Shield v5.0
RESET .

OWER  ANALOG IN @
5V GNDVIN AOA1A2A3A4AS

sp o+l -+ - - -] urror =+ - +]

Oj=0| Q4 BE
MM EE V5.0

22 o]
MESE| DS

Step 3. 3|2E 14 | 46



08| ZO|AEI29] X2 A3, Y2 A2 Toj| Z20IFM|R. (+5V -V, GND - G)

121 jjo]
ME2E D10

2t 2|3 o]

M¥2E| D9
= Ao i = Ao
ME2E D6 MHSE D5

S S 4
AREFGND1312 111098 7 6 54 3
ALRELl . f 24 2

Bl vy sniciu

"RESET T g

] I |

I I < SCLSDA- + % g |
& o =

9 &l

POWER  ANALOG IN @
5V GNDVIN AOA1A2A3A4AS

sp o+l -+ - - -] urror =+ - +]

Oj=0| Q4 BE
MM EE V5.0

RO|AEN RO|AEI2
XZ-A0 X% - A3
Y& - Al Y& - A2

47 | Step3. 32T 1M



09

AAx4 HIE{Z| ECIE WM 217 2= T2 Thxjof] AR FLiCt.

—12]m #|of
MNEZ2E{ D10

2 3| o]

MERE] D9
Z1= Alof i 2= Alof
ME2E| D6 ME52E D5

i omd b
REFGND1312 11109 8 74
RS -

s
RESET G"i o
<!
L [coM|
5 SCLSDA- + N‘ 3
i

C-
POWER ANALOG IN @
5V GNDVIN AOA1A2A3A4A5S

OlEo| & HE
MM 41E V5.0

ZO|AEN RO|AEI
X&-A0 X&-A3
Y& - Al Y& -A2

AAx4 HlE{2|
1.5V AA HHE{2] x 4

Step 3. 3|2= 31

48



AR 3|25 A o]o|x]

KE :

[ |
= AaiAz Aanans 11
[ B

.gg 5&”“@

49 | Step3.3|2E 1A



OtF0|= SENLEH(IDE) 2XIF IsHM & H2l20|A arduino.cc 2
& =AML,

Cc o - met
A : N
‘i arduino.cc 2 HE
Google
SOFTWARE HI=& Z2i5H M.

LCID  DOCUMENTATION =  COMMUNITY =  §LOG  ABOUT

Save up to 50% on
your next project.

BUY AN ARDUINO -

ARDUINO IN THE CLOUD -

\... ARDUINO
\ DAY 2023
=5 ARDUING DAY TURNS 10
O@ .J BUT YOU ARE A 10!
Over-the-Air

hitps i ardinocienvaoftware

Step4. 3T | 50



03| IDE AX| o} 2 CI22 E617| s AFRSHA = 2UH|H|(0S)E MEHSH FAM|Q.
(2UH|H| Windows 10 0|4 AF2 A] AX]| 6f|A])

2w »0& i

GETTING STARTED
Downloads

12 10 0|4, 64H|E 22

Arduino IDE 2.0.3

The Arduine IDE 2.0 is open source and its source cade is
hosted on GitHub

Nightly Builds.

Download a preview of the incoming release with the most updated features and bugfixes.

Windnwe

04| JUST DOWNLOADE Z&!lsH mlo| Ch22E ElL|C} (FXfof| 2t 2 X])

Support the Arduino IDE
Since the release 1.x release in March 2015, the Arduino IDE has
been dewnloaded 69,516,590 times — impressive! Help its
devalapment with a donation.

$3 $5 $10 $25 $50 Other

a EI JUST DOWNLOAD CONTRIBUTE & DOWNLOAD
— \.@/
s okt dsmusing m Ao

obZ ol SRR (IDE) wiHol 2.0.X chZ b A
= 2 300] 2120l olE{H o) AV HARIQSLIET

1.8.X thel Eonatsba g Qstad t1S molzlE Anstaal

51 | Step4. 3G



05

04

(X A%]) SOFTWARE H|% H[0|X| Ol2 HEO 2 OIRA &l AJESIA|H
Legacy IDE(1.8.X) 7t USLIC}. (2B Windows 7 0|4 AFE Al

€3 cC

€ (<]

PROFESSIONAL

(c0)

o A

e x4

B aduino.cc/en/saftwane

B ardinace/en/donste)

oucaTION

HARDWARE  SOFTWARE  CLOUD  DOCUMENTATION =

of debugging tools.

For more details, please refer to Arduino PLC IDE
documentation.

Legacy IDE (1.8.X)

Arduino IDE 1.8.19

The open-source Arduino Software (IDE) makes it easy to write code
and upload it to the board. This software can be used with any
Arduino board,

Refer to the Started page for Installation

souRce cove
Active development of the Arduino software is hosted by GitHub.
See the instructions for building the code. Latest release source
code archives are available here. The archives are PGP-signed so
they can be verified using this gpg key.

Previous Releases
Download the previous version of the current release, the classic 1.0.x, or old beta releases.

DOWNLOAD OFTIONS

Previous Release 1.8.18
Arduino 1.0.x
Arduino 1.5.x beta

HARDWARE  SOFTWARE  CLOUD  DOCUMENTATION =

Support the Arduino IDE
Since the release 1.x release in March 2015, the Arduino IDE has
been dewnloaded 69,516,590 times — impressive! Help its
devalapment with a donation.

$3 $5 $10 $25 $50 Other

=
=H

=X

°.0]

Learm more abcut danating ta Arduina,

coMMUNITY +  BLOG

DOWNLOAD OFTIONS

coMMUNITY +  BLOG

JUST DOWNLOAD CONTRIBUTE & DOWNLOAD

asour

asour

2w »0&

(.
uju
Ju

g

=270

iGN N

@ Help

o
A
=

x| of|Al)

Step 4. 3

52



07| New IDE (2.0.x)

™

Step4.

53



09| RE (4 HYU 3 setup() T+ HE)
$#include <Servo.h>
const int SERVOS = 4; //ME2E “H=

/ /2 HHE A
int PIN[SERVOS], value[SERVOS],
int MAX[SERVOS],

Serveo myservo [SERVOS]; //AMEZE A

MAX[0] = 170;
INITANGLE [0]

S0;

ANA[0] = 0; //ZE Z0O|2E x=
//3AE MERH

PIN[1] = 6;

MIN[1] = 20;

MAX[1] = 170;

INITANGLE[1] = 110;

ANA[1l] = 1; // & F0|E v=
JI2PEZE NEZH

PIN[2] = 5;

MIN[2] = 10;

MAX[2] = 170;

INITANGLE[2] = 90;

ANA[2] = 2; // 2= Z0|E v=
/P 22

PIN[3] = 10;

MIN[3] = 40;

MAX[3] = 160;

INITANGLE[3] = 110;

ANA[3] = 3; // 2= Z0|EH x=

for (int 1 = 0; 1 < SERVOS; i++){
myservo[i] .attach (PIN[i]);
myservo[i] .write (INITANGLE[1i]);
valus[i] 0;
idle[i] = 0;
previousaAngle [1]=INITANGLE [1];

idle [SERVOS],
INITANGLE [SERVOS], previousAngle [SERVOS], ANA[SERVOS];

vold setup () {
//E2EE MERE
PIN[0] = 9; //MEBEEZE 10E sHI== AIE
MIN[O] = 10; //MEBEH Z4 FEHUT

JIMERE EO g 82T
[N ERE =02

JIMEEE E2HE

currentAngle [SERVOS], MIN[SERVOS];

AH A

A, HiE

[IHERE F=D2 e M=

Step4. 3% | 54



10| 2E (loop() &+ I E =)

void loop() {
delay(20); // EZZ

I

=2 2 Lol

for (int 1 = 0; 1 < SERVOS; i++){
value[i] = analogRead (ANA[i]);
currentAngle[i] = myservol[i].read();
Serial.print (currentAngle[il);
Serial . print(™ ");

1f (value[i] > €12) {
idle[i] = 0;
if (currentaAngle[i] < MAX[il){
++currentAngle[i];
}
if (!myservo[i].attached()) {
myservo([i] .attach (PIN[i]);
}
myservo[i] .write (currentAngle[i]l);
} else if (walueli] < 412) {
idle[1] = 0;
if (currentAngle[i] > MIN[i]) {
——currentAngle[i];
}
if (!myservo[i].attached()){
myservo[i] .attach(PINI[il);
}
myservo[i] .write (currentAngle[i]);
} el=ze {
++idle[i];
}
if (idlelil = 100){
myservo[i] .detach(); //MEZEHE L&A
idle[1] = 0;

2t

—

Ab

=
=3

SHAl &

|0
r

0

I

rg
iy
1]

il
AN

55 | Step4. 3G




01

02

4Wheel

26
27
28
29
EL]
31
32
33
34
35
36

Auto Format Ctrl+T
Archive Sketch

Manage Libraries... Ctrl+5hift+1
Serial Manitor Ctrl+Shift+M

Serial Plotter

WIFi101 / WIFININA Firmware Updater
Upload SSL Roaot Certificatas

Board

FUll

Get Board Info

Burn Bootloader

el IEE RSP H, [E] HiwoM [REIE 2788l FHR.

Boards Manager... Ctrl+Shift+B |

| Arduino AVR Boards L4 Arduing ¥in
ESP3 2 Arduing 4 Arduino Uno
ESP&266 Boards (3.0.2) » Arduino Uno Mini

(A7) [EE] 2380| =IACHH [EE]S 276 FHIL.

File Edit

4Wheel Manage Libraries...
26 Serial Manitor
27 Serial Plotter
28
29 WIFIT01 / WIFINIMA Firmware Updater
3@ Upload S5L Root Certificates
31
32 Board: "Arduing Upng"
33 Port
34 Get Board Info
35
316 Frogrammer

Sketch| Tools

Help
Auto Format
Archive Sketch

Ctrl+Shift+I
Ctrl+Shift+M

[ Carial partc

COMS3 (Arduino Uno)

COMT
I

Tip. OFF ol BT H7 Ao

uhet ZE o E o £ QS

Step 5. HIAE

56



= = = = e
03| (?HA) ZdEl =S HRESP| M, [E] HIR0IA [EE]E 28l FA8.
o HE 2] E| J=T
As =8 Ctrl+T
~FK] S2E7|
sketch_dec23a CIRC 2F g Y2 A
el e ZHo|EBE| 2| Ctrl+Shift+]
AZE 2LE Ctrl+Shift+M
// pu  xagssH CtrlShiftL to run once:
WIiFi101 / WiFiNINA Firmware Updater
} EE: "Arduino Uno® 3 HEC LA
== Arduing ¥un
EE ®g o7 ‘& Arduino Uno
vold 19  =zqzm: -avrise mir |
// sEEH 27 Arduino Nano
p ¥ Arduino Mega or Mega 2560
Arduino Mega ADK
= ke
04| (tH{H) [EE] 20| E|UCHH [RE]E 2F5H FM|8.

sketch_dec23a

vold se

// pu

Feu

g =% CtrlsT
AF K| S|

IR W & ME 17

2H0|=212| 2. Ctrl+Shift=|
A2 BUH Ctrl+Shift+M
NE 2 S2H Ctrl+Shift=L

WIFi101 / WiFiININA Firmware Updater

B L - "Arduino Unog"

B

L. Lo run ont

A

o als L

//

SC aE o

ZE17{: "AVRISP mkll"
$E20 27

Alg2|g =E

COn1

COM16 (Arduino Una)

to run reps

57 | Step5.HAE

Tip. OFF ol BT H7 Ao

uhal ZE HoE oHE

AN o) KeX
T ADO




Step 5. HAE

05

X ENAE 73ab7) °d2EFF 2TW) Exbsia oliched)

[Step3. |2 7] 2} [Step 4. 2] BES
CHA| £QI510] £%51A|2Z HERILICY,

Step5.HIAE | 56



06| 2

59 | Step5.HAE



Memo

012121 [ 60



CODING PEOPLE

ARDUINO PROJECT
EXE U3




	슬라이드 번호 1
	슬라이드 번호 2
	슬라이드 번호 3
	슬라이드 번호 4
	슬라이드 번호 5
	슬라이드 번호 6
	슬라이드 번호 7
	슬라이드 번호 8
	슬라이드 번호 9
	슬라이드 번호 10
	슬라이드 번호 11
	슬라이드 번호 12
	슬라이드 번호 13
	슬라이드 번호 14
	슬라이드 번호 15
	슬라이드 번호 16
	슬라이드 번호 17
	슬라이드 번호 18
	슬라이드 번호 19
	슬라이드 번호 20
	슬라이드 번호 21
	슬라이드 번호 22
	슬라이드 번호 23
	슬라이드 번호 24
	슬라이드 번호 25
	슬라이드 번호 26
	슬라이드 번호 27
	슬라이드 번호 28
	슬라이드 번호 29
	슬라이드 번호 30
	슬라이드 번호 31
	슬라이드 번호 32
	슬라이드 번호 33
	슬라이드 번호 34
	슬라이드 번호 35
	슬라이드 번호 36
	슬라이드 번호 37
	슬라이드 번호 38
	슬라이드 번호 39
	슬라이드 번호 40
	슬라이드 번호 41
	슬라이드 번호 42
	슬라이드 번호 43
	슬라이드 번호 44
	슬라이드 번호 45
	슬라이드 번호 46
	슬라이드 번호 47
	슬라이드 번호 48
	슬라이드 번호 49
	슬라이드 번호 50
	슬라이드 번호 51
	슬라이드 번호 52
	슬라이드 번호 53
	슬라이드 번호 54
	슬라이드 번호 55
	슬라이드 번호 56
	슬라이드 번호 57
	슬라이드 번호 58
	슬라이드 번호 59
	슬라이드 번호 60
	슬라이드 번호 61

